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1 If fix} = 2:1 + 4,which of the following will caleulate the derivative of flx)? i ¥

' 2. Differentiate: v = rp—
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3. Find dy/dx fory = (x)yx + L.
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{e) Nome of these

© 33x+ 1
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4. Find f(x) for f{x} = (2" + 5)°

(@) 7(ax)e

(@) 7(20? + 3¢

) (axy
{g) Nons of these
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5. Differentiate: v = seclx + anlx.
(a) 0

(d) 4sect xtany

(b) tamx + sec*x
(e} None of these

(€) secx(secs + tan?x)
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6. Find the derivative: f{#) = /sin 26,

7 c0s28
{a) —
sin 28

(d) cos @

(b) sec20

{e) None of these
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7.  Find the derivative: s(r) < (raLé- ) 8.

r i i i
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Find an equation for the tangent line to the graph of f{x} = 2" — 2x +

1 # P (a) y=2x—2 (b) y=4a7 —6x + 5
() gemeg oty () y=42 —6x +2 (€) Nome of these

(@ —coft = {¢) None of these
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]
EXTRA CREDIT (2 pts each): QV

B. Let p(x) = flx)egl(x). Use the figure to find p(5).
: m ‘the graph of fTx) = —2% + 312 — 2at which there is a horizontal tangent line. pi) = flx)gls r

-

Unit 2 Quiz 2: Differentiation Techniques (with Trig) - KEY
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‘mple 1 — Differentiating with Respect to x

Variables agree: use Simple Power Rule.

Variables disagree: use Chain Rule.

Chain Rule: ‘; [3v] = 3y’

ax



-mp!e 1 — Differentiating with Respect to x

d " [« 5 d
d. ;}';'[n ] = ,1';1;[_\'-] + _\--‘—H[_\'] Product Rule

dy
= 2xy—+1y?
dx

Cham Rule

Simplify.

cont'd

W EXample 2 — Implicit Differentiation

qi that y° + y2 — 5y — x2= —4.
"’e” 8 A My, @(%°)

Solution:
1. Differentiate both sides of the equation with respect to x.

‘_“[“.t +y2— 5y —x2] = ‘_"[_4]
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p. 145 #27
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